a2 R

60 TERIRGHE (B1SHARKREIAZEY)

NERRKTE +H
B #BERFE |(F1EHEKRSE 260 -
1T A& =Y )
(FM) = i ——
% 241.6 240
1 18 306.9 220 —
2 1& =) 299.2
3B W 2981 5 200
4 B Uit 291.8
5 & I& 289.7 180
65 & 2892 | g ~
9 #F A 282.8  oRBE o2E
10| 1& =1 2820 | -
11 A J 279.2
12| 8 H 278.8 | #%st7—% |
13| fk 2] 278.1 FH
14 & L 277.8 £ E 2ER 2 =
15 8RB 2763 | % ERR19 199.1 212.2
16| AE Y 273.3 20 206.5 2145
17 [ L 272.7 K21 2214 2247
18| 5 y 3l 269.5 k22 235.7 235.0
195 B 268.7 | ¥ F %23 2426 2416
20 K n 268.5 ) PHR2EEER. REAKEROBZEICLY, RENPE#TH-1-1BS
21| & J 267.4 B DSET1AT (REFET, MZERT. SEREET. JIIPF . EERT, FHAT) R T
2 = W 265.9 E£EHUIE,
23| 1L i 260.3 I H R 2 F
24 & e 259.5
25/ f&8 @ 259.3 | gy |BENENETHF—ER 117.3 127.0
26| = R 252.0 BireE (38431)
27| = ] 251.0 (B1EWMRERE1ANLTY)
28 & F 249.4 | o (FH)
29| 1L m| 2485
30| 1L F 2441 iZER N EY—ER 24.4 235
i | (TP MR (281:1)
31 K B 2426 " l(E1E®EBREIALEY)
33| # 5 242 1 (M)
dE = 2409 | _
35 = 177 235.7 = |HERNET—ERBAE 100.9 91.0
36| =1 2349 (B1EWMREE1ALY) (20431)
37 & = 2343 (FMA)
38| I B 231.3
39 # [if] 229.9
40 1t B/ & 229.6 BB BE S BAT N RRBERRRE
41| &= B 219.8 RS ER23ERE
42| # %= )| 2180 | M | -mzmEm a4
43| ¥/ X 216.3 CEHA R NIRRT E (B8 B SRR E R (ER2BEER)
44 = y 3l 213.8 ) BEATENEY—CERE BEERSENEY—ERE, 55
45| & W 2094 |z | NEY-EBREEFEL,
46| F = 193.0
47| & £ 186.2




